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5 2,6 (AU A O P Ak [ SR A B A% =R (BRI
DR LR RS — b (AR LR K 2%)

T2 RiAHDOFE, TBEZE) 1 ZRIEE (BF54E3HSIH) FTICAEE (BT) L=ETHD,

[ (28] X5 4EE (GFSFEAF IR NS GT6EIHIIAET) 1A% (BT) LEAXIIZRE (&

"]

(ZBR#E10ALLE])
A — 1%& ——— %ﬁ — Ejﬁi A
| o] aks |2reu| one| ars |2Rek|owek| ars
T8 R ST K 22 22| 100.0 22 22| 100.0 0 0| 0.0
FRZS N B SE AR R AL R 20 20| 100.0 20 20| 100.0 0 0l 0.0
(L EBRST R 19 19| 100.0 17 17| 100.0 2 2| 100.0
U B NG 14 14| 100.0 12 12| 100.0 2 2| 100.0
FRNRNL RS 13 13| 100.0 13 13| 100.0 0 0| 0.0
AR KT 13 13| 100.0 12 12| 100.0 1 11 100.0
fE IR R T 13 13| 100.0 12 12| 100.0 1 1] 100.0
EBRY 11 11| 100.0 11 11| 100.0 0 0l 0.0
B B BN KT 10 10 100.0 9 9] 100.0 1 1| 100.0
BB 201 K7 26 25 96.2 25 24 96.0 1 11 100.0
VAT IR B R 20 19] 95.0 19 18] 94.7 1 1| 100.0
W S NE 16 15| 93.8 11 11| 100.0 5 4] 80.0
H ARSI R T 15 13| 86.7 13 12| 92.3 2 1| 50.0
BRI UANT 77— K% 15 13| 86.7 12 11| 91.7 3 2| 66.7
HERT: 21 18] 85.7 21 18] 85.7 0 0l 0.0
R 27 23| 85.2 21 20[ 95.2 6 3] 50.0
B[RS r i vNE 46 39 84.8 38 37 97.4 8 2| 25.0
)i SRR AR 39 33| 84.6 33 311 93.9 6 2| 33.3
i W R A K 13 11| 84.6 10 10| 100.0 3 1] 33.3
HaFRSLRT 18 15| 83.3 16 15| 93.8 2 0| 0.0
AR AR KT 57 46| 80.7 41 41| 100.0 16 5| 31.3
BER R 15 12| 80.0 13 12| 92.3 2 0| 0.0
AT 10 8| 80.0 10 8| 80.0 0 0l 0.0
B R 24 19 79.2 21 18| 85.7 3 1] 33.3
ERN T NE 23 18] 78.3 18 17 94.4 5 1l 20.0
FOLEIE KT 36 28 77.8 30 25 83.3 6 3] 50.0
A FFTHNLR T 18 14| 77.8 13 13| 100.0 5 1l 20.0
H AfE AR T8 E A & 171 1311 76.6] 127 112] 88.2 44 19 43.2
A A S FERT 21 16| 76.2 14 13] 92.9 7 3| 42.9
EBOR T 12 9] 75.0 10 8| 80.0 2 1l 50.0
BE VE @ kK 15 11| 73.3 11 9] 81.8 4 2| 50.0
(R yNe 11 8| 72.7 9 8| 88.9 2 o 0.0
PR 205 B K7 29 21| 72.4 19 16| 84.2 10 5| 50.0
VE 2 B R T 29 21 72.4 21 18] 85.7 8 3| 375
HfE R 28 20 71.4 20 17| 85.0 8 3 375

(1~35#%)




b4, S _ S

| omen| atks |zwen|onen| ans |2pek|owex| ars
INSB'E U 28 20( 71.4 22 19] 86.4 6 1l 16.7
NIE R 14 10 71.4 9 9[ 100.0 5 1l 20.0
SN 17 12| 70.6 9| 100.0 8 3| 375
AbeiigE R R 27 19 70.4 19 17| 89.5 8 2|  25.0
EIEYNES 13 9] 69.2 8| 100.0 5 1] 20.0
EREPiNES 13 9 69.2 9 8[ 88.9 4 1l 25.0
AR FIE G HE 48 32[ 66.7 29 22 75.9 19 10 52.6
i B R 24 16| 66.7 15 12| 80.0 9 4] 44.4
JUIH PE 3K 18 12 66.7 13 12 92.3 5 0 0.0
b ipNE 15 10[ 66.7 10 9[ 90.0 5 1| 20.0
R P i LR 2 R 15 10| 66.7 7 5| 71.4 8 5| 62.5
W HCERCR T 15 10[ 66.7 7 7| 100.0 8 3[ 375
KB ALK T 12 8| 66.7 10 8] 80.0 2 0l 0.0
SO BE R 17 11| 64.7 12 10] 83.3 5 1l 20.0
WK 14 9] 64.3 11 7| 63.6 3 2| 66.7
Al e 22 14| 63.6 18 11] 61.1 4 3 75.0
A LSRR 11 7| 63.6 7 6| 85.7 4 1l 25.0
B R 7B E BE 63 40[ 63.5 33 28| 84.8 30 12|  40.0
JEE IR I [T B R 19 12| 63.2 13 11| 84.6 6 1] 16.7
UM —TF LB K 32 20 62.5 19 16] 84.2 13 4] 30.8
INUUNIEE I NES 13 8] 61.5 7 6| 85.7 6 2| 33.3
FLIR B K5 20 12| 60.0 14 11] 78.6 6 1l 16.7
HOR R AL P AR 56 33[ 58.9 45 31| 68.9 11 2| 18.2
BUER L R 17 10| 58.8 11 10| 90.9 6 0l 0.0
JEFIR P 17 10[ 58.8 11 9 81.8 6 1| 16.7
WAL KT 12 7| 58.3 7 6] 85.7 5 1l 20.0
JE e E R OR 5 12 7 58.3 9 6| 66.7 3 1l 33.3
B SCE RS 14 8| 57.1 11 6| 54.5 3 2| 66.7
PEILIN R 14 8| 57.1 12 7| 58.3 2 1l 50.0
REA [ K 23 13| 56.5 11 7| 63.6 12 6] 50.0
HHSSCHOR - 20 11| 55.0 11 8| 72.7 9 3| 33.3
S E RO 15 8] 53.3 8 5| 62.5 7 3| 42.9
EBEEELTFRY: 20 10l 50.0 12 8| 66.7 8 2| 25.0
S ST PN S 16 8| 50.0 9 71 77.8 7 1l 143
IS pNES 14 7 50.0 3| 50.0 8 4] 50.0
e N 10 5[ 50.0 of 0.0 10 5[ 50.0
R PR el e A B P A 27 13| 48.1 19 12| 63.2 8 1l 125
JEI TSRS 22 10[ 455 13 8| 61.5 9 2| 22.2
FRF LR T 11 5| 45.5 4 2| 50.0 7 3| 42.9
HAERR R 18 AE 0B 53 23 43.4 23 16| 69.6 30 7| 23.3

(36~75%%)
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zhws| omen| atkr |wen|onen| anx |2pe|onex| ars
P [l A7 2 ] R 26 11 423 15 9] 60.0 11 2| 18.2
HURRAER T 76 32 42.1 37 22| 59.5 39 10| 25.6
PP EIRA SRR 19 8| 42.1 4 3| 75.0 15 5| 33.3
R Pl HA R 19 8| 42.1 11 63.6 8 1l 125
PO R K 12 5 41.7 6 4] 66.7 6 1| 16.7
NG A SN 51 21| 41.2 32 171 53.1 19 4] 21.1
FOEAER 85 R R 75 29| 38.7 35 23| 65.7 40 6] 15.0
A AR R 27 10[ 37.0 16 6| 37.5 11 4 36.4
i GEES ] NE 14 5| 35.7 3| 375 6 2| 333
LU TN 13 4] 30.8 9 3| 333 4 1] 25.0
Y SR WNES 13 4] 30.8 4] 80.0 8 0] 0.0
FALSE T R R 11 3[ 27.3 6 2| 33.3 5 1] 20.0
HRARKT 15 4] 26.7 10 4] 40.0 5 0l 0.0

(76~88%%)




(52 B 10 AR

Befis s oe'e e RS

| o] ek |zren| omen| ars |2eek|onek| ars
BRI T 8 8| 100.0 8 8| 100.0 0 0| 0.0
fo] [ L1 UR N7 R 8 8| 100.0 8 8| 100.0 0 0 0.0
BAVE “F e R 7 7| 100.0 7 7| 100.0 0 0| 0.0
R R 7 7| 100.0 6 6| 100.0 1 1| 100.0
RIRRF 7 7( 100.0 7 7| 100.0 0 0| 0.0
EF W= 7 7| 100.0 7 7| 100.0 0 0ol 0.0
R SN 7 7| 100.0 6 6| 100.0 1 1| 100.0
(LIAL UL N, K 7 7| 100.0 7 7| 100.0 0 0 0.0
RIREFRRS: 6 6| 100.0 6 6| 100.0 0 0| 0.0
Ui TN = 5 5| 100.0 5 5| 100.0 0 0l 0.0
EERZ &G kLo 5 5( 100.0 5 5| 100.0 0 0| 0.0
Ko KT 4 4] 100.0 4 4] 100.0 0 0l 0.0
FUARCHE LA R 4 4] 100.0 4 4] 100.0 0 0| 0.0
SRR T 4 4] 100.0 3 3| 100.0 1 1l 100.0
FORFHBURS: 3 3[ 100.0 3 3| 100.0 0 0| 0.0
A NER T 2 2| 100.0 1 1l 100.0 1 1| 100.0
NN 1 1| 100.0 0 of 0.0 1 1] 100.0
JUAS e 2 - R 1 1| 100.0 0 of 0.0 1 1| 100.0
(R AN 1 1| 100.0 0 of 0.0 1 1] 100.0
~H =T E R AL R 1 1| 100.0 0 of 0.0 1 1| 100.0
TS R R AR AL T 8 7| 875 8 7| 87.5 0 0| 0.0
PR FSFRF 8 7| 87.5 7 6| 85.7 1 1| 100.0
BRI BE K5 8 7| 87.5 7 7| 100.0 1 0| 0.0
B IR AL R T 7 6] 85.7 7 6| 85.7 0 0| 0.0
UiVl S e NE 6 5[ 83.3 5 5| 100.0 1 0| 0.0
KIERS 6 5[ 83.3 5 5| 100.0 1 0| 0.0
ERREE IR KT 5 4] 80.0 1 1l 100.0 4 3l 75.0
e [of] WA 7R 9 7|1 77.8 6 6| 100.0 3 1] 33.3
REL T KT 8 6] 75.0 8 6| 75.0 0 0] 0.0
IR TR 4 3[ 75.0 2 2| 100.0 2 1] 50.0
SEHKR T 7 5| 71.4 4 3| 75.0 3 2| 66.7
IR Fn 22+ K% 9 6] 66.7 6 6| 100.0 3 0l 0.0
WA — MV D1 K7 6 4] 66.7 3 3| 100.0 3 1 333
LIREpNE2 6 4]  66.7 3 3| 100.0 3 1] 33.3
A NS 6 4| 66.7 4 3 75.0 2 1l 50.0
eI UNES 6 4]  66.7 5 3| 60.0 1 1] 100.0
JUMN B AR 3 2| 66.7 2 2| 100.0 1 0| 0.0
B AR E R AL PR KPR 7 4] 57.1 3 3| 100.0 4 1l 25.0

(1~38%%)




b4 S T S

TRER| B AR |BRER| ST R | BRE K| aRE | aE
(25 I VNES 9 5| 55.6 7 4] 57.1 2 1l 50.0
R R 9 5| 55.6 5 4] 80.0 4 1l 25.0
ER N e avNE 9 5| 55.6 8 5| 62.5 1 0l 0.0
YN 6 3 50.0 2 1l 50.0 4 2|  50.0
AU AR 4 2| 50.0 0 of 0.0 4 2| 50.0
=T VEERE R 4 2| 50.0 1 1| 100.0 3 1] 33.3
B AR 2 1l 50.0 2 1l 50.0 0 0l 0.0
hite= 3l NES 2 1l 50.0 0 of 0.0 2 1l 50.0
i RENES| S NE2 2 1l 50.0 2 1l 50.0 0 0l 0.0
JIE R i R 5 8 3| 37.5 3 2| 66.7 5 1l 20.0
JUMN AR AR R 9 3] 33.3 2 2| 100.0 7 1l 14.3
el NS 6 2| 33.3 5 2| 40.0 1 0l 0.0
B NS 7 2| 28.6 0 of 0.0 7 2| 28.6
BRI RS 4 1 25.0 0 of 0.0 4 1l 25.0
NSNS 6 1l 16.7 2 1| 50.0 4 0l 0.0
IN=S & a=rbiNe 7 1l 143 4 1l 25.0 3 0| 0.0
ey NE S 4 0| 0.0 2 of 0.0 2 o 0.0
GiVEP M NE S R g 3 of 0.0 0 of 0.0 3 of 0.0
HORFBUF R 3 of 0.0 0 of 0.0 3 of 0.0
FET LT 4T R 2 0l 0.0 0 0| 0.0 2 0l 0.0
et [ AR AL R 2 of 0.0 0 of 0.0 2 0| 0.0
Wl R 2 of 0.0 0 of 0.0 2 o 0.0
PN S=NE2 1 of 0.0 0 of 0.0 1 of 0.0
AV [E B 1 of 0.0 0 of 0.0 1 0 0.0
TR A KT 1 of 0.0 0 of 0.0 1 of 0.0
AL EFR R 1 of 0.0 0 of 0.0 1 0 0.0
RO [ B AR A B P AR 1 of 0.0 0 of 0.0 1 0| 0.0
(39~65¥%)

(&Et)
& 2,433 1,614 66.3] 1,659 1,368 82.5| 774| 246| 31.8




@ PR R kRO 2R L — b (PR LR R R 5 4 FEB5RER)

(ZBRF1OALLE)

s B
B T ] ok e | ot
TA] Ji 12 g B P AR 11 71 63.6
PRZR ) A SR AR B P A 12 6] 50.0
KR SAF AT 4 1)V EEPH SR 26 11] 423
N B [ 5 5t = Bl B P A% 40 16] 40.0
AR AR kB AR 20 8| 40.0
TLPIAS DK E AR AR TG A% 14 5| 35.7
JERAE 2 A A1k B P e AR ) ¢ 24 5 20.8
VL )2 B B 72 O FRE P 248 11 2| 18.2
AL Lo Ak B 2 A% 26 41 15.4
(1~9%%)

(ZZBrE 10 A\ AT

. W
A T ] o] At
FLIRIS TR DK T — /N B R AR A% 2 2| 100.0
BT [E] PR AR B AR 1 1| 100.0
B NNAT 7 ) —BL R 4 2| 50.0
PR R BB P R 8 1l 12.5
K NAT D )y — B 2 3 ol 0.0
R AR R A% 3 0ol 0.0
AEAAE AR AR P A% 2 0o 0.0
H A& AEEE B PR 2 o 0.0
F - C7 F IR FAE AL 7% 1 ol 0.0
NN PN R PN 1 o 0.0
AE B PR AR Ak B P AR 1 0] 0.0
(1~118%)
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@5 IS Al i R L — b
T2 XA AEE (BMBEARALE D BF6ESHIIHET) ICE¥E (BT) LEZEXITIEE (ET)
T 25 RiAHOFE ., TBEZE] (3ATEE (SF5E3H3IA) £TIEE (BT) LA THD,

(ZBRAE10ALLE)
—v _ Wik _ e _ B 4%

it akek| oms |mwen| ome| o |2Rek| awen| ans
~ = [ R AR AR P AR GEE) 40 39 975 40 39 97.5 0 of 0.0
DU ] e R R S e GEAE) 36 35 97.2 31 31| 100.0 5 4] 80.0
R Al - B YRS R GEfE) 79 73 92.4 76 71 93.4 3 2| 66.7
B SRR AL Y — AT LU I s GEAE) 54 49 90.7 47 44 93.6 7 5| 71.4
HORE AR GERAE) 31 28 90.3 29 27| 93.1 2 1l 50.0
A ARAT 4 I NABHERE Y 7% GaAE) 153 138] 90.2) 139 129] 92.8 14 9| 64.3
IR R AR AR P R (G fE) 119] 106[ 89.1] 108 100 92.6 11 6| 54.5
R AR SRR AR AR T B 21 e 71 63| 88.7 67 61 91.0 4 2| 50.0
HES S m a5 (BfE) 60 53| 88.3 53 47|  88.7 7 6| 85.7
TT 7 ERAE AR P R GEAE) 254 222 87.4] 240 217 90.4 14 5| 35.7
BEREEM KT (BE) 47 41| 87.2 43 40| 93.0 4 1l 25.0
B miI R A E R L oY G@fE) | 364 317 87.1] 321  292| 91.0 43 25 58.1
A Af@E A8 5P R GEfE) 277 241 87.0] 240 219] 91.3 37 22 59.5
B2 AR ST L TR AL L Y GEBAR) 44 38| 86.4 39 371 94.9 5 1] 20.0
s B AL R P A (ifE) 51 44|  86.3 43 39 90.7 8 5| 62.5
A At FERT (E(E) 108 93[ 86.1 94 89| 94.7 14 4] 28.6
AR AR E P s GEAE) 42 36| 85.7 36 32| 88.9 6 4] 66.7
F+CTF HIE R AR P24 GEfF) 61 51 83.6 59 51 86.4 of 0.0
2 ] R AT A AR — Y B 2 GEE) 85 70 82.4 77 63| 81.8 8 71 87.5
KRB EEREIE < BT 2245 (Gl 1R) 174  141] 8.0l 157 134| 85.4 17 7| 41.2
REARYMCAZPE GERE) 59 47| 79.7 48 42| 87.5 11 5| 45.5
JBRAE BE R A A B P A A T 2 G ) 116 92[ 79.3 97 86 88.7 19 6| 31.6
YMCAREREME LR 4% (GB(E) 56 43| 76.8 46 39| 84.8 10 4] 40.0
JUPN B R P A58 (GAE) 94 72| 76.6 73 65 89.0 21 71 33.3
FOEALR B 59 GEfE) 54 41 75.9 49 40| 81.6 5 1l 20.0
HARERKY: AR 2 — (l13) 11 2| 18.2 0 of 0.0 11 2| 18.2
(1~264%)

(ZBRE 10 AAKTH)

saks 4 ___ 1’*’*%( ___ %ﬁ% ___ BEas

zas| akek| omr || ome| o |2nex| awen| ans
TR EFR A DR R (G@ME) 1 1| 100.0 0 0| 0.0 1 1| 100.0
P 2 S A R E SR A E R L v Y GBAE) 1 1] 100.0 0 of 0.0 1 1] 100.0
B IR AR AR BT R P s (B D) 7 6| 85.7 6 6| 100.0 1 of 0.0
A E A AR GETE) 2 of 0.0 0 of 0.0 2 of 0.0
YMCAR LR 2248 G 1E) 1 of 0.0 0 of 0.0 1 of 0.0
(1~5%)

(&8

i 2,552 2,183] 85.5] 2,258 2,040 90.3 294 143| 48.6




@— i B i S5 L — b

T8 ] T4 4EE (BFFISFEAA1IE L EMEESHSIH £ T) I22% (BT) LEHEIERE (BT)
T2 RIAHZOFE,  TBEZE] IXAHFEE (BR6E3SH3IHE) ETIEE (BT) LZBETHD.
(ZEr#E10 ALLE]
—v K e RS

=g omek| owe |2Rek| arek| ons | 2| onen| ans
B WA PR PR A B P AR (R T 23 22 95.7 22 22 100.0 1 0| 0.0
NN 30 27| 90.0 28 26| 92.9 2 1| 50.0
H AR HEZCE S P (BL#) 81 72| 88.9 73 68| 93.2 8 4] 50.0
Bl gt S8 RIS A B VIO ) 18 16| 88.9 17 16| 94.1 1 0 0.0
AR ERS (BfH) 15 13| 86.7 14 13| 92.9 1 0| 0.0
4 i R E . (BH) 21 18] 85.7 19 18] 94.7 2 0 0.0
BUNHERALE R AR (B H]) 20 171 85.0 18 17| 94.4 2 0| 0.0
P SRR ALY Y — A Ly L B (B E) 15 12| 80.0 11 11| 100.0 4 1| 25.0
TR B A R P A (D) 19 15| 78.9 16 15| 93.8 3 0| 0.0
Fof R A A PP A o ol () 47 371 78.7 38 36 94.7 9 1l 11.1
R P AR fRE A Ak B P A5 (D) 35 26| 74.3 27 26| 96.3 8 0| 0.0
F+C7F /7 E FR AN 42 GE1E) 32 23 71.9 32 23 71.9 0 0| 0.0
H AR HEECE S P (R D) 44 31 70.5 34 31 91.2 10 0| 0.0
BEPRZARE ST 4 TR L Y () 39 25 64.1 22 19| 86.4 17 6| 35.3
HOE R o P e (E1E) 100 64 64.0 63 51 81.0 37 13| 35.1
FURCE BT T PR PR AL P 4% G fE) 47 30[ 63.8 34 27| 79.4 13 3| 23.1
TIVT 7 EEE AL R R GEME) 238| 140| 58.8] 148] 105 70.9 90 35| 38.9
B ARAT ¢ VAR P2 GEAE) 55 32| 58.2 27 25 92.6 28 71 25.0
DY [ o PR R ERA B 2B G E) 28 15| 53.6 18 13| 72.2 10 2| 20.0
RIBER TN FE P 222 (ifE) 101 54 53.5 51 41| 80.4 50 13| 26.0
FURR AR AL P 742 (1R 88 47| 53.4 48 35 72.9 40 12| 30.0
AR B IRHE AL E R LYY GRIE) 152 80| 52.6 92 62| 67.4 60 18] 30.0
H AR HEEE P GE1E) 172 89| 51.7 91 63| 69.2 81 26  32.1
BRI RE H A GBIE) 58 30| 51.7 31 23 74.2 27 71 25.9
AP SRR Y — A A Lo O B GEAE) 43 20 46.5 22 16| 72.7 21 4] 19.0
BEREER R (B1E) 34 15| 44.1 18 10| 55.6 16 5| 31.3
JUPN B9 5 PR 22 () 140 55 39.3 60 33 55.0 80 22 275
FOR AL PR B P e (G 1R) 20 6| 30.0 3 3| 100.0 17 3| 17.6
A At FZERT (BE) 13 3] 23.1 0 0| 0.0 13 3l 23.1

(1~29%%)




(B 10 AATHE)

_ Wi s B
ZWHEH| AEER| OE | ZBRER| AOBER| GRER | BRER| GRER| G
A IR A AL R BT RE P s (BAH) 7 6| 85.7 5 5[ 100.0 2 1| 50.0
[E PR R AR AL R P A (BE) 3 1| 333 0 0 0.0 3 1| 333
HOREARCR B F 9 R (R ) 3 1| 333 0 0| 0.0 3 1| 33.3
RO AL A (B ) 7 1| 14.3 0 0| 0.0 7 1l 14.3
O PR AR AR P R (1R 9 1l 11.1 0 0| 0.0 9 Il 11.1
AARZEGEBALR 7K (EfE) 5 0| 0.0 0 0 0.0 5 0| 0.0
AAEBRAT B2 — (HE) 4 0| 0.0 0 0| 0.0 4 0| 0.0
P AL MR - (57 R (BRA) 3 0| 0.0 0 0| 0.0 3 0| 0.0
AR AR A - R K () 2 0| 0.0 0 0| 0.0 2 0| 0.0
O R AL R P AR (1K) 2 0| 0.0 0 0| 0.0 2 0| 0.0
ORI AR BEP Bt 5 ) 3o 2 (R D) 1 0 0.0 0 0 0.0 1 0 0.0
F+C7F 1 IEFRAFHERE 48 () 1 0| 0.0 0 0| 0.0 1 0| 0.0
RO AR AR R P e (B ) 1 0| 0.0 0 0 0.0 1 0| 0.0
HOR R AR P A% (1K) 1 0| 0.0 0 0 0.0 1 0| 0.0
HOR R AR A () 1 0 0.0 0 0 0.0 1 0| 0.0
A AR R AL R P A (R D) 1 0| 0.0 0 0 0.0 1 0| 0.0
AT R AL P A (R AT) 1 0| 0.0 0 0| 0.0 1 0| 0.0
"B M 5 A A B P A (R 1 0 0.0 0 0| 0.0 1 0 0.0
(1~18%%)

EXip

S 1,781 1,044| 58.6] 1,082| 853| 78.8] 699 191| 27.3




